4R98 BR#E

2019 £ (FERE31ERE) FfF B T 52 F T K BT FERE PR
4 f 5 A 6 A 7R 8 A 9 A 10 A 11 B 12 A 1 A 2 B 3 A

1|gERxH 1k|amos | 1|x[p0%E® | 4|5 282, ENEE D 1|8 1|k [BER8 2R | qlolzems | 1 1|k |z 1|+ 18

2|k [5e 2 R|EEOWE | 218 2|k [ERs 2/®xnmsie | 21A 255, 2)K B 2|+ |#mxns || 2|8 255, | 2|K|#m4E | 2B 2R [F2A% 50k
3|7k [masHs 3|&|mzwan | 3|AZE5" 3|k [BEEEC 3|+ 3| k|55 JELTE 3B [xom |X| 3|k [mse 3|&|mmukE | 3|8 |E5E7FRET | 3|k |mxe

4| K [mams 4|t|HEUnE | 4|k|Exe 4|k |RETE 4|8 4|k 4% 4| B |REka ; 4|k 4|t 4|k |mee 41K [Fs e
5| |hELn 5|B|c£tmB | 5[k[menrar | 5|& 5A 5| [E5E 5+ 5|k |hxE || 5|k [g52* | 5|E 5| 5| K e

6|+ 6|A[EEkE | 6|K[ER® 6|+ 6| X 6| [1inw Gf=! 6k |Ze2 L 6| |usw 6|A | 2rn 6K [Epe s | 6%

7|8 7|k |zae zesm| 7|&|xazen=ec| 7|H 7Kk |gEor—sn | 7|2 7|8 |exse s57@| 7|K g—’gﬁ%@* 7|+ 7| e st 7€ |am 7|+

8|A [ty | olkfr,. | 8lx 8|A 5572 7579 | glk|-smam | 8|E 8|k 8| 8|8 8|k|zaz 8|+ 8|8

9|k [z | 9|k|E%E 9| 9%k 9|& 9| A |enma 9|k [nzm 9|+ | rmms 9| R |E5= 9| A [ = 9|8

10[K [FFHE4 |q0|d | ZMIRET |10/ f |l euma | 10| s 10|+ 10| % E 10|k |E2%0,.  [10|B 10| |[#n72r  [10|2 108 |enwmz 10 %
1|K[FERRCo® 19| £ 1% i&?i%ﬁl"%ﬁ@%ﬁ 1|k [gEr% o ol L S e A e e L Ll sl - 1|+ 1|k [eERE0R |11/

12| &ixormn (12|H 12| [7—nps ;f 12|& 12|AlEEna  |12|K|-=w | [12|E 12| % Sl BEE 4ol 12K [rumuzas |12/kK |45 stas
13|+ 13|A|enme | [13[K[ETR |2 |13+ 13|k |—=mr  [13|& 13|H 13|k [P HRERE 1134 13[A [AoE  [13|K |-=we 13| [GRuBRSH0R
14|8 14| % e " 14]B 14k |—=mr  |14|x 14| B |sE 0B 14|K 14|t 14| |enme |14]& |ow 14|+

TR RARE iz & =
15| A |28z mhss1 |15k [FEFE,8 15|+ 15|A |80 R 15|k|—=mr  [15|H 15k |-=ms | L[15|& 156 15|k |BE . [15|E 15| B
16K [Z252 77T |16|K ¥ l16|m 16| % 16|@|-#mr  |16|A [szon 16|k |asmae | 26|t 16| A LIE N == T = 16| A gz oF
2

17 K[ 17]&|-we § 17|A)ZET 17K 17|+ 172k [sees 17|k “l17|B 17|% 17|& 1718 7358 |17|X[EEEETF
18|k 2277 18[+ |Eney 18|k |[75%22 18|k 18|H 18[7K 18|& 18| 8 [rrmmm  [18]%k 18|+ 18|k 18K |Gamns
19|& 285 PTA gl | |enmy  [19|k|-mme 19| et 19|A 19|K|;FH 19|+ [emxis 19|k 19|K 19|82 19|k |zw 19|K |=xusEss
20|+ 20( A 20| [emviruzas 20|+ 20(:x 20| & 20|H |2z |20]% 20| % 20{A |57 | |20k 20| |08
21|H 21| K 21| [eemrsEss (21| H 21| K [mez5t 21|t 21|A 21| K 21|t 21| K |Rs3H@ ;EE 21| |s@mAa-Bx0E) |21|L
22| g |BARRG=D 22|k 22|+ 22| A [BZEABHO 9o\ k|oxenn |22 22|k [miaERoE  |22|4& (ke 22|H 227K |mezsr a% 22|+ 22|H
23|k |-=ere  [23|K 232 23|k [SFEHHA 23|&fesenn  |23|A|ma0E  (23[k 23|+ [msm#oE (23| |wxs 23| K| 50% | |28|8 [x=meR  |23|A
247K s s e 24| 24|A| 5572 |24k |TEELBET |og| 4 PTARIEE . 24|k 24| K 24| 24| |szEamn (24| r2nme | 24| [EEHE 24| X
25| K (K i |25| L [mmaem |25k |TFV4FF 1T |25\ K |a-e4mmm |25\ 25(7K 25|& 25| R 25(7k 25|+ 25| K |25k oSN
26| *H7= o |26|A [Eme 267k |[FHEE (40 |96 & |oF SR l| £ | 26| A |srma~® 26|k 26|+ 26|k 26| 26| 2 26K | 126 A e
27|+ 27| B |Rexe 27|k |ZEEEE 27|+ semimmn E 27|k |FrLvnz |27|@ 27|8 27|k |ZEZHE  127|& [wwwe  |27|H 27|k [T 45599 P Py
288 28| |FHIE - log|@ 28| B sz mmn| = | 28|k |7ruooms |28|+(BBE_ |28]7 28| A |-# i 28|+ 28|k [pmE20 (282 L{28|+
29| A [BHIDE  |20|k|[Emarma [29|+ 20| A [remenn| | ||29]% 29(H 29|k 29| & 29(E |#xtkE  [29|K(|<5vxz (20| 29(H
30K |EGDE  |30|K[—FTr 30|H 30K 30| & |mEtE 30| A |REHE 30|7K [rrzxRs 30|t 30| A |FE*H%A 30| K 30| B |2Ekitx
31 31|&|7—rmn 31|k [#xmrzas [31|L 31| K 31|k |ExtkE (31| &[7 5 AETH 31| K [eErikg
BEH EEH(198) %% (208) EEW(148) EER(H) EEH(198) EEHCTH) EEH (208) EEH (158) RER(188) EEH(160) EEH(7A,

(15H, 1£148) 9RARFI%E213:30 68H, 16781, 2% #1758 6414R)
178 E SRS 1250 5 H ORI ML, 5 3% #1538,

Bt 64508




